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1) Let X
dx  6y(y—2)

, ¥(2) =1 be given.

a) (10 pts.) Using Existence and Uniqueness Theorem, show that the given initial value

problem has a unique solution.

b) (8 pts.) Solve the given initial value problem and find this unique solution.

¢) (7 pts.) Determine the interval in which the solution is valid.
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2) Solve the initial value problem /{’Z}\dx + G:r:"\+ ey sin})dy =0, y(0)=x.
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3) a)(10 pts.) Find the general solution of the differential equation — = e
dx 4xy f M,

&

_ . 3
(}!,‘g ’ ‘)f‘ ‘lj 2 X N c;! % (:‘! ®
X }Z‘H e 14 T e .&é_m o .,(ft.... *:;?7 A CLHW erare '.?)imt-ré,”(d-i :'_—__> fft_ﬂ&im j C!)\
A Ghu 2 olx Gy 2+ é >

(5750 - 4,
3 .

NE C

(346u7) = G, c=&

2
A 2 (u 2
boaed
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4) For which values of a does the system
bx, +bx, + ax, =1

by, + ax, +bx, =1 have
ax, +bx, +bx; =1

a) (5 pts.) no solution?
b) (10 pts.) infinitely many solutions? Find the solution set, if possible.
¢) (10 pts.) a unique solution? Find the solution set, if possible.
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